## <u>Annexure-4</u> <u>Working days of Smt Nitya Pandey A.P.J(Family Court) Court No-9, Lucknow</u>

### Dated-01.04.2020 To 31.03.2021

### <u>Working days</u>

<u>Total days</u>	-	<u>365.00 days</u>
1-Sundays	-	39.00 days
2-IInd/IVth Saturdays	-	18.00 days
3-Child Care Leave	-	15.00 days
4-Compensatory Leave -		01.00 day
5-Casual Leave	-	13.00 days
6-Special Casual Leave	-	01.00 day
7-Holidays	-	12.00 days
8-X-Mas Day	-	01.00 day

9-Winter Vacation	-	06.00 days
10-Racess	-	10.00 days
11-Court Closed for Sanitization	-	18.00 days
12-Home Quarantine	-	07.00 days
13- Lock Down	-	72.00 days
Total	-	213.00 days

# Actual working days- 365.00-213.00=152.00 days

Dated-09.04.2021

{Smt Nitya Pandey}

A.P.J(Family Court)Court No-9, LKO

I have checked all the entries and found correct.

## Working days of Smt Nitya Pandey A.P.J(Family Court) Court No-9, Lucknow

#### Dated-01.04.2020 To 31.03.2021

#### Criminal Work done

1-01 Crl. Case 125 C.r.p.c Contested decided 10 year old @ 09.00 unit per case	- 09.00 units
2-01 Crl. Case 125 C.r.p.c Contested decided @ 06.00 unit per case	- 06.00 units
3-01 Crl. Case 125 C.r.p.c Ex-Party decided	- No Credit
4-07 Crl. Case 125 C.r.p.c Non-Contested as Withdraw decided 05 year old	- No Credit
5-09 Crl. Case 125 C.r.p.c Non-Contested as Withdraw decided	- No Credit
6-04 Crl. Case 125 C.r.p.c Compromise decided	- No Credit
7-03 Crl. Case Non-Contested decided	- No Credit
8-02 Crl. Misc Case Contested decided	- No Credit
9-01 Crl. Misc Case Non-Contested decided	- No Credit
10-488 Page Evidence Recorded @ 01.00 unit/10 Page	- 48.80 units
11-02 Execution 125 C.r.p.c Non-Contested decided	- No Credit

31 Cases decided

#### <u>Civil</u> Work done

1-01 R.S Contested decided 10 year old @ 14.00 unit/case	- 14.00 unit
2-02 R.S Contested decided 05 year old @ 12.00 unit/case	- 24.00 unit
3-11 R.S Contested decided @ 10.00 unit/case	-110.00 unit
4-17 R.S Withdraw decided @ 02.00 unit/case	- 34.00 unit
5-03 R.S Withdraw decided 05 Year old @ 03.00 unit/case	- 09.00 unit
6-01 R.S Withdraw decided 10 Year old @ 04.00 unit/case	- 04.00 unit
7-13 R.S Ex-Party decided @ 03.00 unit/case	- 39.00 unit
8-01 R.S Ex-Party decided 05 year old @ 03.00 unit/case	- 03.00 unit
9-11 R.S Compromise decided @ 02.00 unit/case	- 22.00 unit
10-03 R.S Non-Contested decided	- No Credit
11-15 R.S Refer to Mediation Center decided @ 00.50 unit/case	- 07.50 unit
12-01 Mise Case Adoption Contested decided @ 08.00 unit/case	- 08.00 unit
13-01 Misc Contested decided 05 year old @ 02.00 unit/case	- 02.00 unit
14-06 Misc Contested decided @ 01.00 unit/case	- 06.00 unit
15-05 Misc Non-Contested decided as withdraw @ 02.00 unit/case	- 10.00 unit
16-27 Issues framed @ 0.50 unit/Issues	- 13.50 unit
17-22 Amendment Application decided @ 02.00 unit/Application	- 44.00 unit
18-01 Execution Non-Contested decided	- No Credit

77 Cases decided

- 350.00 units

#### Additional Work done

1-10 month More than 500 Pendency @ 10.00 unit/month	- 100.00 unit
2-10 month Addl. Administrative work @ 05.00 unit/month	- 50.00 unit
2-04 Quarterly Inspection office/Quarter	- 40.00 unit
3-152 days Data Forwarding Daily Basis @ 0.25 unit/day	- 38.00 unit
4-20 Days In Charge of Link Court @ 03.00 unit/day	- 60.00 unit

Total		-228.00 units

Criminal Work done - 63.80 units Civil Work done - 350.00 units Additional Work done - 228.00 units

Total - 641.80 units

Actual Work done-641.80 units

Dated-09.04.2021

{Smt Nitya Pandey}

A.P.J(Family Court)Court No-9, LKO

I have checked all the entries and found correct

# Annexure No-4

# Details of Work done and Working days By Smt Nitya Pandey Additional Principal Judge(Family Court) Court No-9, Lucknow

S. No	Period	Number of Working Days	Civil Work done	Criminal Work done	Additional Work done	Leaves/Holidays /Training		Total Work done	
			In Unit	In Unit	In Unit	In Days	In Unit	Excluding- Leave/ Holidays/ Training	Including- Leave/ Holidays/ Training
1	01.04.2020 To 31.03.2021 Court of Additional Principal Judge (Family Court) Court No-9, Lucknow	152.00 days	350.00 units	63.80 units	228.00 units	213.00 days	698.64 units	641.80 units	1340.44 units
2	Total	152.00 days	350.00 units	63.80 units	228.00 units	213.00 days	698.64 units	641.80 units	1340.44 units

Note:- Leaves/Holidays/Training Period Calculate @ 3.28 units/day from-01.07.2018

Actual Working Days = 152.00 Days

Actual Work done = 641.80 units excluding Leave/Holidays/Training

Actual Work done = 1340.44 units including Leave/Holidays/Training

Dated-09.04.2021

{Smt Nitya Pandey} A.P.J(Family Court)Court No-9, LKO

# In The Court of Additional Principal Judge(Family Court) Court No-9, Lucknow

Statement Showing number of cases where in after conclusion of arguments and reserving them for judgment, rehearing was ordered

S.N o.	Particulars of Cases	Date of Argument	Date fixed for Judgment	Date fixed for rehearing of arguments	Actual date of delivery of judgment	Remark
1	2	3	4	5	6	7
1	NIL	NIL	NIL		NIL	NIL

NOTE:-No Such Cases of Judgments after rehearing

Prepared By:-

Checked By:-

Dated-09.04.2021

{Smt Nitya Pandey} A.P.J(Family Court)Court No-9, LKO